Ypok MaTeMaTUKM B 4-OM KJiacce no y4ebHukKy

J1. I'. NeTepcoH
TeMma: MNnowaab NpsAMOYroJsibHOro

TpeyrosibHuka (ypok N2 32)

Cnang 1



STp. = Snp. 82
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dopmyna nnowadu
rnpsiMoOy20JIbHO20 mpey20sibHUKa

Swp.=(axe):2

Cnaung 4



SA=(a-b):2

SA=(4-3):2=6 (KB.
CM)

OTBeT: 6 KB.CM
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1) 53 =15 (kB. cM) — nyiowaab nNpsiMoOyrosibHUKa
2)(4-5):2 =10 (kB. CM) - nnowaab TpeyrosibHUKa
3) 15 + 10 = 25 (kB. cM) — niowaab Bcen uUrypbl
5:-3+((4-5):2 =25 (kB. cM)

OTBeT: 25 KB. CM i



2¢cM 2cm 4 cm N

S
S

™M

P O

1) 2 - 3 =6 (KB. CM) — S NpsAMOYrosibHMKa
2)(2-3):2=3(kB.cM) - S 1-ro Tpeyro-n.
3)(4-3):2=6(KB.cM) - S 2-ro Tpeyron.
4)6 + 3 + 6 = 15(kB. cM) - S BCcen purypol
2-3+(2:-3):2+@4-3):2=15(kB. cM)
OTBeT: 15 KB. CM
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